Exam 1 Review

Review Problems:  Exam 1 (Investment Basics – Stock and Bonds)
Review Problems

A 1.  The Transport corporation just made $3,000,000 in income for it=s first year of operations.  When the corporation started up, it issued 25,000($1,000 par value) 5 year 6% annual coupon bonds, 150,000 shares of preferred stock at $100 par value that pay an 8% dividend, and 5 million shares of common stock were issued at $4 per share.  The Transport corporation wants to pay a $.10 per share common stock dividend and the only cash available for all payments is the $3,000,000 in income they earned this year.

A.  In order of priority, who must be paid first?

B.  How much will the total payment to bondholders be this year?

C.  How much will the total payment to preferred stock holders be?

D.  How much will the total payment to common stockholders be?

A 2.  Cisco is selling at $45 a share.  You would like to buy 200 shares for $42 a share using 60% margin.  Cisco pays no dividends and the interest rate on a margin loan is 6%.

A.  What type of order would you place to buy Cisco at $42.

B.  Assuming your order gets executed for $42, how much money would you have to put up?

C.  What type of order would place after buying Cisco for $42 to sell it at $35?

D.  If Cisco does fall to $35 after one year and your order is executed, what was your return on equity?

A 3.  Barnes and Noble is selling for $55 a share.  You think it is going to fall to $30 a share.

A.  What would you do to profit from your expectations and how much would you make?

B.   After executing your action in A, what type of order would you place to minimize your loss to approximately $7 a share?

C.  Assuming you used 50% initial margin, what would be the margin call price with a maintenance margin of 30%?

A 4.  You have decided to create a price weighted and value weighted index using the two largest stocks in a five stock market.  These two stocks make up 65% of the value of the market.  The number of shares and prices for all five stocks over the last three years are given below.

	Stock
	No. of Shares
	Year 1
	Year 2
	Year 3

	A
	2,000
	$40
	$48
	
$49

	B
	1,500
	$20
	$22
	$25

	C
	800
	$30
	$28
	$33

	D
	400
	$17
	$19
	$23

	E
	300
	$25
	$27
	$26


a.  Using just stocks A and B, what is the price-weighted index for the three years?  What are the percentage changes?

b.  Using just stocks A and B and starting your index at 10, what is the value weighted index for the three years?  What are the percentage changes.

c.  Now find the percentage changes for price and value weighted indexes using all five stocks. 

d.  How well did your two stock index indicate the actual performance of the entire market?

Answers to Review Problems

1.

A.  Bondholders must be paid first.  If the corporation does not have the assets to pay it=s bondholders, the bondholders can take control of the corporation, force it into bankruptcy, and liquidate assets to pay the bonds off.  This is only done as a last resort but sometimes does occur. Preferred stockholders are next in line but they are paid their dividends only if cash is available.  Preferred shareholders cannot force the corporation into bankruptcy if they are not paid, but the common shareholders cannot be paid until after the preferred dividends are paid.

B.  With a 6% coupon on $25 million of debt, the total coupon payments will be .06 * $25 million = $1.5 million.

C.  Total preferred dividends are .08 * $15 million = $1.2 million

D.  Since the company only had $3 million to make payments and $2.7 million had to be paid out to bondholders and preferred stockholders, only $300,000 is left for distribution to the common stockholders.  With 5 million shares outstanding, only $300,000/5 million or six cents a share can be paid to common stock as dividends.  Thus, the Transport Corp. cannot pay its common shareholders 10 cents a share as wanted.

2.

A.  You would use a limit buy order at $42.   This order is executed at $42 or below if the price of Cisco ever falls to that level.

B.  Since margin = Equity/Total Assets, you would have to put up 60% of (200 shares * $42 a share) = $5,040.

C.  You would place a stop-loss order.  As soon as Cisco hits $35 a share, your order would become a market order to sell.  You will not necessarily receive $35 a share, but it should be relatively close unless the market is falling very rapidly.

D.  Since you only put up $5,040 of the purchase price, you must have borrowed $8,400 - $5,040 = $3,360.  The interest cost on this is 6% * $3,360 = $201.60.  You also lost $1,400 on the stock(bought at $42, sold at $35 multiplied by 200 shares) and thus your return on investment or ROE = (-$1,400 – $201.60)/$5040 = -31.8%.

3.

A.  You should sell the stock short.

B.   You should place a stop-buy or start-gain order at $62 a share.  Since you sold this stock short, losses accumulate as the stock rises.  Thus if Barnes and Noble rises to $62 a share, your order will be executed limiting your losses to approximately $7 a share depending on what the next market price is when your order is executed.

C.  Assume you short sold 1 share although the number of shares does not matter.  Since you used 50% margin, you put up $27.50 of margin and have total assets in your account of $82.50.  You must maintain at least 30% equity. The margin call price is = Total Assets/(N(1+M), $82.50/1(1+.3) = 82.50/1.3 = 63.46.

4.  

a.  For the price weighted index, sum up prices and divide by 2 so index values go from 30, to 35, to 37.

Percentage changes are 16.67% and 5.7% respectively.

b.  To determine value weighted index values, first determine market value by multiplying price times the number of shares in each time period.  Then to determine index value, take market value in time t+1 and divide by market value in time t, and multiply by index value in time t.  Total market value for the two stocks are 110,000, 129,000, and 135,500 for the three years.  So the index value starts at 10, increases from 10 to 129,000/110,000*10 = 11.73, and finally to 135,500/129,000 * 11.73 = 12.22.  The percentage changes were 17.3% and 4.2% respectively.

c.  For all five stocks the percentage changes for the price-weighted and value-weighted index are given below:

	Price Index
	26.4
	28.8
	31.2

	% Change
	
	9.09%
	8.33%

	Total Value
	148,300
	167,100
	178,900

	Value Index
	10
	11.27
	12.06

	% Change
	
	12.7%
	7.01%


d.  The percentage price change for the two stock price weighted index showed gains of 16.7% and 5.7% respectively.  This compares to approximately 8% for all five stocks combined using the price-weighted index. Clearly year one was significantly different, although this is not all that surprising for a price weighted index since all stocks are weighted based on price only and not their market capitalization.  Our two stock value-weighted index had gains of 17% and 4% while the total five stock market had gains of 12.7% and 7.0% respectively.  Again, our two stock index wasn’t overly accurate despite the two stocks making up 65% of the market capitalization.  Two points to consider, 1) the value weighted index is usually more accurate when indicating how the broad market does, and 2) using only a subset of stocks in the market to create an index does not always give us a perfect indication of how the entire market has done.  That is why there are so many indexes.  The index you should pay closest attention to is of course the index that has a composition closest to your own portfolio holdings.

Multiple Choice 

A 1.  Which of the following sources should you trust for unbiased information about the value of a stock?

a.  Your commission only stockbroker.

b.  The CEO of the company.

c.  Professional analysts.

d.  none of the above

A 2.  Within the investment setting

a.  ethical behavior is irrelevant, only profits matter.

b.  ethical behavior counts as unethical behavior can lead to stock declines.

c.  ethical behavior counts but has little effect on stock values.

For the three problems use the following table:

	YTD
	52 – WEEK
	
	
	YLD
	VOL
	
	NET

	$ Chg
	Hi
	Lo
	Stock(SYM) 
	DIV
	%
	PE
	100s
	Close
	CHG

	3.5
	40.90
	21.30
	GenElec(GE)
	.76
	?
	?
	380138
	25.21
	1.41

	
	
	
	
	
	
	
	
	
	


A 4.  How many shares of GE traded hands yesterday?

a.  380,138

b.  3,801,380

c.  38,013,800

d.  380,138,000

A 5.  If GE had earnings per share last year of $1.50, what should its PE ratio be?  Round to nearest whole number.

a.  2

b.  17

c.  39

d.  21

A 6.  What should the number be for the dividend yield?

a.  .03

b.  .3

c.  3.0

d.  7.6

A 7.  What was the closing price of GE the day before?

a.  $21.30.

b.  $26.62

c.  $22.61

d.  $23.80

A 8.  CFA

Preferred stock

a.  Is actually a form of equity.

b.  Pays dividends not fully taxable to U.S. corporations.

c.  Is normally considered a fixed-income security.

d. All of the above

For the next two problems, use the following:

	Corporate Bond Table
	
	
	

	
	CUR
	
	
	NET

	BONDS
	YLD
	VOL
	CLOSE
	CHG

	AT&T 8 1/2        31
	8.6
	301
	99.88
	-0.63

	BELLSOT 7 1/2  33
	7.1
	115
	105
	…


A 9.  What is the total amount per year in coupon payments that you would receive from buying the BellSouth bond?

a.  $71

b.  $75

c.  $115

d.  $105

A 10.  (Advanced, not on test) The AT&T bond pays interest twice a year.  If you bought this bond and it has been exactly three months since the last interest payment was made, what would by the invoice price that you would have to pay?

a.  $1,020.05

b.  $1,083.80

c.  $1,085.00

d.  $1,042.50

A 11.  You are in the 28% tax bracket and are trying to decide on whether to buy a 5% municipal bond or a 6.5% corporate bond.  Which one should you buy and why?

a.  The 5% municipal since its equivalent tax yield is 17.85%

b.  The 5% municipal since its equivalent tax yield is 3.9%.

c.  The 5% municipal since its equivalent tax yield is 6.9%.

d.  The corporate bond since its after tax yield is 6%.

CFA 

A 12.  An order to buy or sell stock at the best current price is a:

a.  stop order

b.  limit order

c.  floor order

d.  market order

CFA

A 13.  If you place a stop-loss order to sell 100 shares of stock at $55 when the current price is $62, how much will you receive for each share if the price drops to $50?

a.  $50

b.  $55

c.  $54.87

d.  Cannot tell form the information given

A 14.  Assume you want to purchase AOL-Time Warner for $22 a share but it is currently trading at $24 a share.  What type of order would you use in this case?

a.  Market order

b.  Limit-buy order

c.  Limit-sell order

d.  Stop-loss order

CFA 

A 15(advanced, not on test) 4.  Which of the following statements about “short selling” is TRUE?

a.  A short position may be hedged by writing call options.

b.  A short position may be hedged by purchasing put options.

c.  Short sellers may be subject to margin calls if the stock price increases.

d.  Stocks that pay large dividends should be sold short before the ex-dividend date and bought afterward to take advantage of the large price decline in a short time period.

A 16.  If you buy a stock, what type of order can you use to limit your losses if the stock begins to fall?

a.  Limit-buy order

b.  Limit-sell order

c.  Stop-loss order

Use the following for the next three questions:

Assume you buy $50,000 worth of stock on 50% margin.  Assume your borrowing costs are 10% per year and you expect the stock price to go from $100 to $115 over the next year.  

A 18.  What is your dollar return after borrowing costs?

a) $5,000

b) $7,500

c) $2,500

d) $10,000

A 19.  What is your return on assets(ignore interest)?

a) 10%

b) 5%

c) 15%

d) 20%

A 20.  What is your return on equity after borrowing costs?

a) 10%

b) 25%

c) 15%

d) 20%

A 21.  If you short sell 100 shares of Intel stock when it goes from $85 to $110, how much did you make or lose?

A. +$250

b. -$3,000

c. +$2,500

d.  –$2,500

A 22.  If you buy 100 shares of Intel stock when it goes from $85 to $110, how much did you make or lose?

A. +$250

b. -$3,000

c. +$2,500

d. $-25

A 23.  If you buy 300 shares of stock that is priced at $40 a share on 75% margin, how much of your own money did you put up.

A. $9,000

B. $3,000

C. $6,000

d. $2,250

A 24.  You have $1,000 in equity.  If the initial margin requirement is only 10%, how much stock can you buy?

a.  $1,000

b.  $100

c.  $2,000

d.  $10,000

A 25.  Assume you buy 200 shares of GE at $40 a share using 50% margin.  The maintenance margin is 30%.  What is the margin call price?

a.  $30.76

b.  $28.57

c.  $33.00

d.  $30.00

A 26.  To justify buying stock on margin, the stock price 

a.  just needs to increase. 

b.  needs to rise by the margin amount.

c.  needs to rise by the loan amount.

d.  needs to rise at least by the interest rate.

A 28.  The primary purpose of an initial public offering is to 

a.  allow the owners of the firm making the offering to profit from forming the company.

b.  raise money for new companies.

c.  allow the owners of the firm making the offering to sell their stake in the firm.

d.  raise money for existing companies that already have shares selling in the market.

e.  both b and d.

A 32.  The NASDAQ market is located 

a.  New York

b.  Chicago

c.  Philadelphia

d.  nowhere, it is simply an electronic market

A 34.  In the U.S., insider trading was made illegal because

a.  corporate insiders should not be allowed to make huge sums of money.

b.  it is desirable to have a level playing field in the security markets.

c.  private information about a company should remain private.

d.  if corporate insiders were allowed to buy and sell stock of the company they are managing, there would be a conflict of interest.

CFA Sample Exam 2000 level 1

A 36.  To maintain a fair and orderly market, stock exchange specialists in the United States are expected to:

a.  buy against the market when the market is definitely declining and are expected to sell against the market when the market is definitely rising.

b.  buy against the market when the market is definitely declining but are not expected to sell against the market when the market is definitely rising.

c.  sell against the market when the market is definitely rising but are not expected to buy against the market when the market is definitely declining.

d.  neither buy nor sell against the market, regardless of market trends.

CFA

A 38.  An order to buy or sell stock at the best current price is a :

a.  stop order.

b.  limit order.

c.  floor order.

d.  market order.

A 39.  If you were to place a market order to buy GE when the quote was 45.20 - 45.45, you would most likely buy GE closest to 

a. $45

b. $45.20

c. $45.45

d. $45.50

CFA

A 40.  If the market prices of each of the 30 stocks in the Dow Jones Industrial Average all change by the same percentage amount during a given day, which stock will have the greatest impact on the DJIA? 

a. The one whose stock trades at the highest dollar price per share.

b. The one whose total equity has the highest market value.

c. The one having the greatest amount of equity in its capital structure.

d. The one having the lowest volatility.

CFA

A 41.  In calculating the Standard and Poor’s stock price indexes, how are adjustments for stock splits made?  

a. By adjusting the divisor.

b. Automatically, due to the manner in which the index is calculated.

c.  By adjusting the numerator.

d.  Quarterly, on the last trading day of each quarter.

CFA 

A 42.  Which of the following indexes includes the largest number of actively traded stocks?

a.  The Nasdaq Composite Index

b.  The NYSE Composite Index

c.  The Wilshire 5000 Index

d.  The Value Line Composite Index

CFA Sample Exam 200 level 1

A 43.  The divisor for the Dow Jones Industrial Average(DJIA) is most likely to decrease when a stock in the DJIA:

a.  has a stock split.

b.  has a reverse split.

c.  pays a cash dividend.

d.  is removed and replaced.

CFA Sample Exam 2003 level 1

A 44.  An analyst gathered the following data about stocks J, K, and L, which together form a value -weighted index:

	
	December 31, Year 1
	December 31, Year 2

	Stock
	Price 
	Shares Outstanding
	Price 
	Shares Outstanding

	J
	$40 
	10,000
	$50 
	10,000

	K
	$30 
	6,000
	$20 
	12,000*

	L
	$50 
	9,000
	$40 
	9,000


*2 for 1 stock split

The ending value-weighted index(base index = 100) is closest to:

a.  92.31

b.  93.63

c.  106.80

d.  108.33

Answers, NA is not applicable, question was removed.
	1
	D
	11
	C
	21
	D
	31
	NA
	41  B

	2
	B
	12
	D
	22
	C
	32
	D
	42  C

	3
	NA
	13
	D
	23
	A
	33
	NA
	43  A

	4
	C
	14
	B
	24
	D
	34
	B
	44  C

	5
	B
	15
	C
	25
	B
	35
	NA
	

	6
	C
	16
	C
	26
	D
	36
	A
	

	7
	D
	17
	NA
	27
	NA
	37
	NA
	

	8
	D
	18
	A
	28
	B
	38
	D
	

	9
	B
	19
	C
	29
	NA
	39
	C
	

	10
	A
	20
	D
	30
	NA
	40
	A
	


Review:  Exam 1 (Mutual Funds, options, and futures) 

B 1.  Assume you go long Dec. Hogs-Lean futures contract.  The contract is for 40,000 pounds, priced in cents per pound, and is currently priced at 50.

A.  If you hold this contract to expiration and do not offset it by going short, what would you  be required to do?

B.  If the price of hogs goes to 62 and you short a Dec. Hogs-Lean futures contract to offset your position and effectively get out of the market, how much did you make or lose?

B 2.  Closed-End Funds: V. Cheap purchased a closed-end fund with a NAV of $25 a share for only $20.  At the end of the year, the fund=s NAV was $27 and was selling at a 5% premium.  It did not pay out any dividends or capital gains during the year.  How much was the original discount and what was A. Cheap=s return?

B 3.  Calculating Return: J. Taken purchased a load fund with a NAV of $50 per share and a 3% sales load.  One year later, J. Taken sold the fund with a NAV of $54 per share with a back-end load of 3% as well.  During the year, the fund paid a $.25 dividend per share and distributed $.40 in capital gains per share.  If J. Taken invested $10,000 in this fund, what was J. Taken=s dollar and percentage return over the year?  What would have the return been if this was a no-load fund?

Answers to Review Problems

1.

A.  If you held on to the long futures contract until expiration which is on the third Friday of the expiration month and did not want to reverse your position, you would be required to take delivery of 40,000 pounds of hogs and pay $.50 per pound or $20,000.

B.  If you reversed your position at 62, you now have one contract that allows you to buy at 50 and another contract that allows you to sell at 62.  You have made $.12 per pound and since the contract is for 40,000 pounds, you just made 40,000 * $.12 = $4,800.

2.  The premium or discount for closed-end funds is calculated as (Market Price - NAV)/NAV.  In this case, since the market price is less than the NAV, the fund is selling at a discount which is ($20 - $25)/$25 = -20%.  One year later, it is selling at a 5% premium.  If the new NAV is $27, the market price is $27 * 1.05 or $28.35.  Thus, A. Cheap=s return is ($28.35 - $20)/$20 = 41.75%

3.  With a 3% front-end load, 3% is immediately taken out of the $10,000.  Thus only $9,700 is invested in this fund.  At $50 a share, J. Taken purchased 194 shares.  J. Taken earned $.65 in dividends and capital gains per share over the year.  The fund=s new NAV is at $54 per share.  However, with a 3% back-end load, only 97% of the $54 will be paid, so J. Taken will only net 52.38 per share or a $2.38 per share profit.  Thus, for each share, J. Taken make $3.03 ($.65 + $2.38).  The total dollar return is 194 shares * $3.03 = $587.82.  On a $10,000 investment, J. Taken=s percentage return was $587.82/$10,000 = 5.87%.

If this was a no-load fund, 200 shares could have been purchased.  They would have been sold at $54.  The profit would have been 200 shares * ($.65 + $4) = $930 and the return would have been $930/10,000 = 9.3%.

Multiple Choice 

B 1.  The two major types of options are

a.  calls and call backs.

b.  puts and put backs.

c.  calls and puts

d.  call backs and put backs.

B 2.  Minor expenses such as mutual fund fees of 1.5% a year

a.  should be minimized to the extent possible as they can make a big difference in the long-run.

b.  should be ignored as they do not make much of a difference in the long-run.

c.  should be ignored since there is little an investor can do about them.

For the next three problems, use the following table:

	
	
	
	 -CALL-
	
	 -PUT-
	

	Option/Strike
	EXP
	VOL
	LAST
	VOL
	LAST

	Gen El  25
	April
	15901
	1.85
	2951
	.60

	            27.50
	June
	5184
	1.10
	439
	2.30


B (advanced, not on test) 3.  If you buy the April 25 Call and GE stock ends up at $25 by the third Friday in April, how much did you make or lose in total on this option?

a.  0

b.  -$185

c.  -$18.50

d.  +$1.85

B (advanced, not on test) 4.  If you buy the June 27.50 Put option and GE ends up at $22 by the third Friday in June, how much did you make or lose in total on this option?

a.  0

b.  -$230

c.  $550

d.  $320

e.  -$2200

B (advanced, not on test) 5.  If you buy the June 27.50 Call option and GE ends up at $32 by the third Friday in June, how much did you make or lose in total on this option?

a.  $110

b.  -$450

c.  $450

d.  $340

For the next two problems, use the following table:

	Gasoline-Unleaded-42,000gal;$ per gal.
	LIFETIME
	OPEN

	
	OPEN
	HIGH
	LOW
	SETTLE
	CHG
	HIGH
	LOW
	INT

	Aprl
	1.1160
	1.1200
	1.0500
	1.0577
	.0562
	1.1630
	.7440
	46,304

	
	
	
	
	
	
	
	
	


B 6.  If you go long the April Gasoline futures contracts at the settle price and decided to take delivery rather than reverse your position, how much would you have to pay in total for taking delivery of the gasoline?

a.  $1.0577

b.  $1,057.70

c.  $44,423.40

d.  $4,423.40

B 7.   For every $.01 change the gasoline futures price, how much does the value of each futures contract change by?

a.  $.01

b.  $420

c.  $42

d. $100

CFA

B 8.  Futures contracts provide for the:

a.  optional delivery of an asset at a specified future date for a specified payment.

b.  mandatory delivery of an asset at a specified future date for a specified payment.

c.  optional delivery of an asset at a specified future date for a unspecified payment.

d.  mandatory delivery of an asset at a specified future date for a unspecified payment.

B 9.  Which one of the following is an advantage of owning a mutual fund?

A.  Reduction of systematic risk

B.  Do not have to pay taxes on capital gains

C.  No expense fees 

D.  Diversification

B 11.  In 1960, there were only 161 mutual funds, by the year 2002, there were approximately

A.  2,000 mutual funds.

B.  4,000 mutual funds.

C.  8,000 mutual funds.

D.  16,000 mutual funds. 

Instructor note, as of 2008, there are over 12,000.
B 12.  Which type of mutual fund could sell at a discount?

A.  Open-end mutual fund.

B.  REIT

C.  Closed-end mutual fund.

D.  Unit Investment Trust

B 13.  Net asset value is

A.  Total market share of all securities divided by total shares outstanding.

B.  Total market share of all securities multiplied by total shares outstanding divided by total liabilities.

C.  (Total market share of all securities minus liabilities) divided by total shares outstanding.

D.  Total market share of all securities divided by total liabilities divided by total shares outstanding.

B 14.  Buying a closed-end fund at a 10% discount to NAV and selling it when the discount goes to zero will

A.  Result in breaking even

B.  Guarantee a loss

C.  Earn a 10% profit

D.  Not enough information to determine

B 15.  If a mutual fund owns one million shares of stock valued at $20 per share, two million shares of a stock valued at $50 a share, has $10 million in liabilities and five million shares outstanding, what is the NAV of this fund?

A. $22

B. $10

C. $35

D. $14 

B 16.  If a fund has a NAV of $40 but is selling in the market for $50, it is selling at a 

A.  25% premium

B.  25% discount

C.  20% premium

D.  20% discount

B 17.  An equity REIT mainly makes money from

A.  The mortgage interest payments

B.  Rents and capital gains on the property

C.  Reselling the mortgages on the underlying property

D.  Foreclosing mortgages on distressed properties and reselling equity stakes in the property.

CFA 

B 18.  A real estate investment trust provides a means for investing in

a.  a portfolio of real estate assets.

b.  the non-U.S. real estate assets of U.S. companies.

c.  the cash flows generated by rental payments on commercial property.

d.  a portfolio of shares in companies that develop or own real estate assets.

B 19.  A mutual fund that is a no-load fund can have

A.  A sales fee to buy the fund

B.  A back-end sales fee when shares are sold.

C.  A small transaction fee when the fund is bought.

D.  A 12b-1 fee

B 20.  All else equal, the larger the expense ratio the

A.  Greater the probability the fund will earn excess returns

B.  Better the management of the fund.

C.  There is no relationship between returns and expenses.

B 21.  An index fund  

A.  tries to outperform a particular index=s return

B.  generally has a higher expense ratio than average funds

C.  tries to mimic a particular index=s return

B 22.  If you buy a fund with a beginning NAV of $10, an ending NAV of $12, and received $.50 in dividends and $.40 in capital gains, your dollar return per share would be

A. $2

B. $.90

C. $2.50

D. $2.90

B 23. Assume you buy a fund with a beginning NAV of $10, an ending NAV of $8, and received $.50 in dividends and $.50 in capital gains.  You must pay 30% in taxes on any dividends you receive and 20% on all capital gains.  What is your after tax dollar return from this investment?

A.  -20%

B.  -10%

C.  -17.5%

D.  -12.5%

B 24.  The best mutual fund to own is the one

A.  That best meets your investment goals.

B.  With the best past 10 year performance.

C.  With the lowest expense ratio.

D.  With the highest ratings by outside agencies. 

Answers

	1
	C
	11
	C
	21
	C

	2
	A
	12
	C
	22
	D

	3
	B
	13
	C
	23
	D

	4
	D
	14
	D
	24
	A

	5
	D
	15
	A
	
	

	6
	C
	16
	A
	
	

	7
	B
	17
	B
	
	

	8
	B
	18
	A
	
	

	9
	D
	19
	D
	
	

	10
	NA
	20
	C
	
	


